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a. Corban insists that they move the sticky notes for
size 8 slightly to the right. Why might this be?

b. Ashley says, “We need to move the 2 to the left.”
Kim asks, “Why? The 2is to the left of all the other
numbers, so it is in the correct place.”

Explain why Ashley wants to move the 2 to the left.
How far to the left should it go? 1

¢. Rosana, who wears a size 5% shoe, joins the class. 1
Which sticky notes would you need to move to place
Rosana'’s shoe size on the clothesline? Where would
you move them to? .

d. Once Rosana’s sticky note is added, Raj says that
there are 22 shoe sizes represented on the graph.
Santiago says that there are only 9 shoe sizes but 22
students. Explain why Santiago is correct.
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peflection & Practice continues on page 52.
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